Al £ O & A

3 Rgs(snsy)
el EAXE (et 8 9)
= - =
SA - ZH - B(E) - NTAY - BES of dre G DS
GsusH 67,035,465 58,324,069 8,711,396
= 402,632
= 3,043,007
Al 63,589,736
HRES(HSRED) 40,037 0 40,037
2EXE 40,037 0 40,037
(=F)etes Jlet 40,037 0 40,037
802 gret=1 e 40,037 0 40,037
02 Al - ZHIEXSEE =S 40,037 0 40,037
OAl - CHI2Z==ttet= 40,037
OHYAl JIEZN ==& X& 22,110& 23
OOl Xt 103 1
OAlUEH A HEXNE 2Ex= 88,000& 88
OOl Xt 702 1
OABIQHAEI Al ST (HOIOHA ZEAI)
9,902,920 39,9038
OO0l Xt 20,4408 21
HY2LAH(HELSD) 64,080 69,530 25,450
JlE &yl 64,080 69,530 25,450
(HR)J=28l 64,080 69,530 25,450
201 ¢Eer2gl 19,260 20,330 21,070
01 At 22l bl 19,260 20,330 21,070
O=AM2gHl HlsE 13,320
o=gtl uaEZ 5,940
202 044l 35,640 39,600 A3,960
01 2LHOIH 35,640 39,600 23,960
OJI2HRFA0Hl olaE22 35,640
203 YR E AL 3,780 4,200 2420
04 EN2EERFA 3,780 4,200 2420
ORMBEUR=IH HaES 3,780
204 B 2432 H| 5,400 5,400 0
01 HAZY R 5,400 5,400 0
OXMgHR A 100,000 x1H « 122 1,200
OEEX IH2R(42) 350,000 x1E »12& 4,200
sue =4 66,931,348 58,254,539 8,676,809
= 402,632
= 3,043,097
Al 63,485,619
Gsussd A& 66,931,348 58,254,539 8,676,809
= 402,632
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2A HsnSH
FH: Uzns =4
ool Hsnssd NE (el &)
a - L=
SN EH SR (BIH) - NEAY - B ol ate S timEET
[ 3,043,097
Al 63,485,619
(BF)AUHLE 28A HEXE 3,173,840 2,787,622 386,218
& 1,586,920
Al 1,586,920
307 2iztol™ 3,173,840 2,787,622 386,218
< 1,586,920
Al 1,586,920
09 2+AHEX 3,173,840 2,787,622 386,218
OAUHA 23A HEXR
3,173,840,000& 3,173,840
= 1,586,920
Al 1,586,920
(BF:)HAHAEZY B 805,264 700,000 105,264
= 402,632
< 201,316
Al 201,316
402 QI2tXt201 A 805,264 700,000 105,264
= 402,632
< 201,316
Al 201,316
01 QI =22 & 805,264 700,000 105,264
QUEATE MAHA &2
100,658,000% * 8CH 805,264
= 402,632
= 201,316
Al 201,316
(F)2+dANMBTE 4,240,600 2,830,600 1,410,000
307 2iztol™ 4,240,600 2,810,600 1,430,000
09 24+LAHEES 4,240,600 2,810,600 1,430,000
ontg=stHA e A Z(3) 100,000
OZ g A SHEABA4Z(1401=4) 2,100,000
OAUIHA @atst #24e= 4=
10,203,000, 000& *20% 2,040,600
(H2HAMUH(SOHE)HASSAIL X E(Z]) 1,225,922 1,225,922 0
[ 612,961
Al 612,961
307 2I2to1™ 1,225,922 1,225,922 0
< 612,961
Al 612,961
09 2+AEES 1,225,922 1,225,922 0
OANU(sHE)HASSAMEHE R 1,225,922
= 612,961
Al 612,961
(BeHEXlicd =484 (%) 16,555 16,555 0
= 16,555
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2AN: tHsunst
M EDE =4
B Uzsnssy I (ct9): 29
= X zH olf{s = M2 OH @EE =2}
307 @I2+0l ™ 16,555 16,555 0
= 16,555
09 24£AHEBE2 16,555 16,555 0
QHEN LN =AEA 242N 222 16,555
[ 16,555
(ER)nEHF 32,585 14,410 18,175
201 L EF2HH| 6,285 6,810 A525
01 At 22] | 4,725 5,250 AB525
OHA(ZESE,0I2)SLE AZE M oaz
2 3,375
OHAZAEI AIZE MEFEX OaE2 1,350
02 22294l 1,560 1,560 0
OZ YA AlZHE & NdE QY KX
130,000 122 1,560
202 CiH| 3,600 4,000 2400
01 2oyl 3,600 4,000 2400
ONEHHURFZX flarE2 3,600
203 YR =T 1,800 2,000 2200
03 Al SR HR=XIH| 1,800 2,000 £200
OMTNEHNY HREX HaEZ 1,800
401 Al&HIL 2 20,000 0 20,000
01 Al&H 20,000 0 20,000
OHASLE &T HMZE  100,0008 20004 2 20,000
405 XHAHE SHI 900 1,600 AT00
01 XAt 2 E 5 S 900 1,600 AT700
OHAZH OlsSAlsIEA Y oo 900
(HZ=)AUHHA O - EIXE X 230,000 165,000 65,000
[ 69,000
Al 161,000
402 QIZHKHE 0| A 230,000 165,000 65,000
= 69,000
Al 161,000
01 QIZtEE X 230,000 165,000 65,000
OA LA O HXHEl XI&
5,000,000 « 46LCH 230,000
= 69,000
Al 161,000
(HZ=)A019 OtME Q8 Al T (-0l) 171,360 171,360 0
402 DIZHRHE0| A 171,360 171,360 0
01 QIZtIEE X 171,360 171,360 0
OAIBIGHAIENAl S X (HOIEAl)
360,000 * 680CH * 70% 171,360
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2A:

H=Ens
M HEDS |4
©el: HEnEsy XN (B2 YY)
A
24 - H2 . A2 (3 H) - HEAY - BHES 0ff Ak 07"55 Hupsz
(MRS HEEHA = (ZHI) 77,700 25,200 52,500
= 22,200
Al 55,500
307 2I2t0I & 77,700 25,200 52,500
[= 22,200
Al 55,500
09 24YAHEE2 77,700 25,200 52,500
OB HA T X (1X) 25,200
= 7,200
Al 18,000
OB Al T2 XK (2%) 52,500
[ 15,000
Al 37,500
(HRHASTE |SXES 976,624 30,000 946,624
401 A& HIL S0 976,624 30,000 946,624
01 Al&d| 976,624 30,000 946,624
OHASZE HY| 946,624
O-=s2%& uA 11,000, 0002 7274 A 792,000
O-s=2a &) 33,889
OS2 A 180, 0002 326 74 58,680
OCSHHEX A 105,000 591 JH 62,055
OHASLE QXNES 30,000
(H=)EHEH2 AUHARS S5t 5,783,000 6,816,000 A 1,033,000
307 Q1201 A 5,783,000 6,816,000 £ 1,033,000
09 2LAHNEXS 5,783,000 6,816,000 A 1,033,000
OHZHAANUHALSZHAS} a2d
476,000,0009 » 12% 5,712,000
ONAMO M AUHA QA =AZH (2012
EHE) 71,000, 00084 71,000
(BN A 2EHA XA (=HI) 51,692 19,200 32,492
= 51,692
307 2I1ZH0I A 51,692 19,200 32,492
[ 51,692
09 24YAHEXS 51,692 19,200 32,492
ORXNEAN 22~ 7 XA 51,692
[= 51,692
(B=)22ss8d 6,000,000 6,000,000 0
307 2I12H0| ™ 6,000,000 6,000,000 0
09 24+YAEES 6,000,000 6,000,000 0
OANUHA 228 X3
500,000,000 » 129 6,000,000
(Bx)22:92 |88 2% 30,053,000 31,200,000 A1, 147,000

-900 -




fA: S
¥M: (EDE =4
gel hsnssd A& (et ™
% = o 1
SA - B S(30) - HRAY - BYS o &ry S HI DS
30,053,000 31,200,000 21,147,000
=2 30,053,000 31,200,000 21,147,000
REEXS 30,053,000,000& 30,053,000
2 === N2 190,261 0 190,261
= 57,077
Al 133, 184
307 220l ™ V 190, 261 0 190,261
S 57,077
Al 133,184
2rgHEx= 190,261 0 190,261
OHANIIEZM =2 A& 190,261,000& 190,261
S 57,077
Al 133, 184
)2+ LAME X & (=HI) 14,959 0 14,959
& 4,488
Al 10,471
307 212t0l ™ 14,959 0 14,959
& 4,488
Al 10,471
09 2eAExa 14,959 0 14,959
OHAIIEZEN+=+2 K& 14,959
= 4,488
Al 10,471
(HF)AIQIo otM 2 2B SAl S (OHe) 1,451,772 0 1,451,772
& 420,888
Al 1,030,884
402 I2t+E01A 1,451,772 0 1,451,772
=S 420,888
Al 1,030,884
o1 gIttEEx 1,451,772 0 1,451,772
OAQIGHAIEHAl £ X2 (OHQIFA BEIAI)
360,000& * 1,690CH  3& » 70% 1,277,640
= 371,136
Al 906,504
OANTIHMEA T2 TR (HAASBEA 2
gl) 30,000& = 691CH  129HE = 70% 174,132
== 49,752
Al 124,380
(B )Uzsns EXARK 9,360 3,250 6,110
201 ¢et2adl 2,925 3,250 2325
01 At 22l bl 2,925 3,250 2325
OoHA 282AH EZE HUEX 2,925
307 2120l 6,435 6,435
02 BB EXS 3,435 3,435
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2A: HEDEY
HH: szns =4
cel: HEDSSsA N (etel: A
- - XN
SA -2 (3H) - HEANY - BHES 0] Aol ‘07155 Husz
OHAIHSE WH 15,000 «2290H 3,435
04 QIZIHAIEZ 3 3,000 0 3,000
ONEEN Eg WHO L DEQHH Z2UH3
3,000,000 *1JH S A 3,000
(Hah)goe iz 08 saE g2 116,280 106,080 10,200
201 L eH2YH| 18,360 20,400 22,040
01 AFR 22l Hl 18,360 20,400 22,040
OMOIEIAl 0|2 =42 2D HMAH oaEY 9,360
OS20I8 s4at2 21D NE o=z 9,000
307 2I1Ztol® 97,920 85,680 12,240
02 QIANEXRS 97,920 85,680 12,240
OMQIEHAIOIR sat2 202
40,0002 * 10404 =128 49,920
O3I20I2 et FNE
40,0002 *100CH* 122 48,000
(HROEBAZSZH SI1HE 8 19,000 0 19,000
207 &R IH L 19,000 0 19,000
01 AP EAH 19,000 0 19,000
OHAEZZH BIHE S gt dRsS 19,000 :
(H)29 0124 A 252024 19,000 19,000 0
207 ¢RI 19,000 19,000 0
01 AR 19,000 19,000 0
O=Y,0ISHA 2LRAI2N HR=2Y
19,000, 00084 14! 19,000
(He)3z= He 2305 2124 15,000 15,000 0
207 ¢RI 15,000 15,000 0
01 2 R2AH 15,000 15,000 0
O HA Q2TAS} S 2A HARRY
30,000, 000 *50% 15,000
(Be)RitEx=a XE 11,500,000 6,000,000 5,500,000
307 2120l A 11,500,000 6,000,000 5,500,000
09 2AHETZ 11,500,000 6,000,000 5,500,000
o2+ BEXZ2(HA, 32 SNHEE2 XL
) 11,500,000
(B2)BgHA 2 674,768 75,800 598,968
307 2I2H0I A 674,768 75,800 598,968
09 2LAHEXS 674,768 75,800 508,968
OZIHA 2H 649,808
ODYHA QLR &X 780,000 «320H 24,960
(EH)E2A 2914 31,200 27,600 3,600
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